DU BSc Physical Education N Sports Sciences

Topic:- PE BSC
1) Which one of the following is not a multi-sports competition?

frafafaa & | 17 o v ag-@« vhaarfrar 78 €2

[Question ID = 451]
1. Common Wealth games/7TgH== &=

[Option ID = 1801]
2. Asian games/TfIHTE F

[Option ID = 1802]
3. Champion Trophy/= 43 Zihr

[Option ID = 1803]
4. Olympics/#@r=fi+®

[Option ID = 1804]

2) A mix of boxing and wrestling is known in ancient Olympic known as:

qHITAT T HeAt F Frsgor &Y gri= e fors & Faara ) Srar Jrar :

[Question ID = 452]
1. Hoplitodromos /g TgraTa

[Option ID = 1805]
2. Pankration/T#eTT

[Option ID = 1806]
3. keles/F=#H

[Option ID = 1807]
4. Tethrippon/zfaTrT

[Option ID = 1808]

3) The idea for reviving the Olympic Games came from

e fas @&t 1 gasfifag &3 &1 3= s gran arar a7

[Question ID = 453]
1. Eunice Kennedy Shiver/afa# &<t forae

[Option ID = 1809]
2. Dios Nath/fZ=ra =myg

[Option ID = 1810]
3. Ludwin Gutman/= =& =287

[Option ID = 1811]
4. Barron Pierre de Coubertin/3717 fime &t wafes

[Option ID = 1812]

4) A competition played within the walls of an institution is known as:

et degr 1 frard A @+t 93 It wfrrar st @

[Question ID = 454]
1. Inter-state competition/#= v rafta afearfiaT

[Option ID = 1813]
2. Inter district competition/sa¥ &7 wiATRET

[Option ID = 1814]
3. Intra mural competitions/ZzT w17 gfaarfaT

[Option ID = 1815]
4. Extramural competitions/TaF=THI7a FiAARETT

[Option 1D = 1816]

5) The word " Fortius” In the Olympic motto means

aret O aredf arvw A "wifery” qsx wvad FAT¢ ¢ .
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[Question ID = 455]
1. Stronger/H=dT

[Option ID = 1817]
2. Higher/3ga+

[Option ID = 1818]
3. Faster/a=

[Option ID = 1819]
4. Heavier/=m

[Option ID = 1820]

6) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Archimedes principle that an object displaces its own volume of water can be used to determine a person's

percentage of body fat
Reason R: Density of fat mass and fat-free mass are constant, lean tissue such as bone and muscle, is denser than water,

and fat tissue is less dense than water.
Basically muscle sinks and fat floats. A person with more body fat will weigh less underwater and be more buoyant.

In light of the above statements,
choose the correct answer from the options given below

= Y wgq fAgaw g . uF w7 AfrwaT (A) T gEE FT FICU (R) FETTAT

afwrswaT (A) : srfFfadts w1 frgia g B s aeg oAt 1 a0t a7 #7 Fearfya st € Brasr soa Fdt =fw $ adcd
Far &1 yfoag Faffao 5@ # e fearsrasarg

FTL (R) : T9T FAATT AT 797 T 7=4/TH F7 w7eq RAT A1 8, qFT FTF A7 gt T Aiqa<ft, av+t & g7 ravr g, af<

FATFAF ATAT HT TAATH FHAATEIATE
A FT ] ATAL AT €T AT @ AT FATITH & arfyys oG & 7oy arar =wfw qrat & A= 79 797 T arfays scardy

IULFH FAAT ® Arar® A (w1 Foa fAFeq § € 9gr Iq¢HAA ¢

[Question ID = 456]
1. Both A and R are true and R is the correct explanation of A/(A) =¥ (R) 3T a5t £ &t (R), (A) Ft 78t =107 &

[Option ID = 1821]
2. Both A and R are true but R is NOT the correct explanation of A/(A) 37 (R) 34T 721 7 9977 (R), (A) F7 721 =997 721 &

[Option ID = 1822]
3. Adis true but R is false/(A) #&f & 79+ (R) 721 781 &

[Option ID = 1823]
4. A is false but R is true/(A) #=2r 721 2 79 (R) 77T &

[Option ID = 1824]

7) The first secretary General of I0A was

AE A T (10A) B IR AgTAfHT F1A 9 =

[Question ID = 457]
1. Sir Dorabji Tata/@¥ STt =121

[Option ID = 1825]
2. Baron De Coubertin/#7 97 gafia

[Option ID = 1826]
3. Dr A.G. Noehren/=T 7 3ft F127+

[Option ID = 1827]
4, Maharaja Bhupender singh/#grT=T 99z g

[Option ID = 1828]

8) Match List | having the definition with List Il having the name of author

List | IList 11

[Name of the Author
Definitions of the physical education

A. Physical Education is the sum of those experiences which come to the individual through
movement.

il. Charles A. Bucher

B. Physical Education is an integral part of the total educational process. It is a field of
ndeavour that has as its aim the improvement of human performance through the medium of |ll. Jesse Feiring Williams
physical activities that have been selected with a view to realizing this outcome.
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C. Physical Education is the sum of man’s physical activities selected as to kind and conducted as lll. Delbert Oberteuffer
[to outcomes.
D. Physical Education is that phase of the whole field of education that deals with the big musclelw g T
activities and their related responses. -8y B
AT -l gt -l
(arr&rfe farer #1 afcamm) (AEF & T
ATH)
|. 9T+9 U.
A, aréifes fargrsT aguat srAr g ST AfF FTafa @ graramw i € e

B. st frerr dqof dtfers wiwar w1 us afdrwr siv § a8 wara 107 a= ¢ Brawr sgeg ardifes wfafafagi . = o

HTETH & ATAT FTA/I24T § LHT FLAT T IICUTH FT TR HEA $1 gfe & g7 71978 =
C. ardifes frar aysy #Y I7 aritfes wiafafaay w1 3w 2, B afonre & w9 & gar s d=rfoa frarsrar 2 "iL %Eﬁ:{

D. ardifs farar o8 farer & Q@ @5 &1 9g 9707 & 9 2T araa faay & wfyfafygt sheswd g4 fya vRfrara | v, s .
gafia g

qTT

= few g frwedt # / st suegfaT

[Question ID = 458]

1.

9) A high strength-to-mass ratio is beneficial for athletes of

72 9T 9T aquTT # foT s 9y aftF uastet # v St 9 wrasHe g ?

A-1,B-1I,C-1I,D-IV

[Option ID = 1829]
A-N,B-1,C-1,D-1IV

[Option ID = 1830]
A-1,B-1l,C-1,D-IV

[Option ID = 1831]
A-IV,B-1Il,C-1I,D-I

[Option ID = 1832]

[Question ID = 459]

1.

10) Vozmax is a key measure of which of the following fitness component

frafafaa & | fra fredw ges F1sftalgdaw (Voomax) Ts THE@ IITT § :

Football/F==1=

[Option ID = 1833]
Basketball/aT=F=at=

[Option ID = 1834]

. Boxing/®@ATaT (FITFAT)

[Option ID = 1835]

Weightlifting/srei=rem (F=ffEm)

[Option ID = 1836]

[Question ID = 460]

1.

Endurance/d9

[Option ID = 1837]
Strength/e1f3F

[Option ID = 1838]
Speed/#i1z

[Option ID = 1839]
flexibility/==terT=

[Option ID = 1840]

11) To develop the abilities of children with special needs, its essential to have an educational set up that is

Ay sraggFar a1 g7 F 79I F1 AwH F@ 3 e uF @ s swaeqr w17 afvard @, srafg
[Question ID = 461]

1.

Integrated/#rafeaq
[Option 1D = 1841]
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2. Regular mainestream/ Aot qeemT

[Option ID = 1842]
3. Inclusive/=fEafm

[Option ID = 1843]
4. Special school/fa9r =g

[Option ID = 1844]

12) Which of the following purification processes yoga recommend to get and keep the equilibrium of these tridosha
A. Neti

B. Sheetkari

C. Basti

D. Dhauti

Choose the correct answer from the options given below

farafafaa & & s17 97 qfs 9fFgT 7 27 B F 9797 1 917 F7 AT Tq77 @A AT gA7g 97 8
A. Rfy

B. sfia=sT<t

C. orEdt

D. g

= T o et # @ 9 SO

[Question ID = 462]
1. A, B, C,D/A, B, C#=D

[Option ID = 1845]
%80, D ABAC Do

[Option ID = 1846]
3. A,Cand D/Fa5 A, C#T D

[Option ID = 1847]
4, A, Band C/F37A, B3 C

[Option ID = 1848]

13) Match List | with List Il list | describe the definitions of the terms given in the list Il

List I
List | 3

A. the point where two or more bones are connected in the body in

: I. Cartilage
a manner that permits movement.

B. a form of connective tissue that is semi-rigid yet flexible. It is
found in the joints and other places such as the nose, throat, and |ll. tendon
ears.

C. a strong piece of tissue in the body connecting a muscle to a

lll. ligament
bone &

D. fibrous cords that bind the bones together at joints IV. Joints

Choose the correct answer from the options given below:

gAt-1 # faw wu arsat v afewrarsi F7 aof7 gt 11 F frar a7 § s9F agare gt - Fr gt -1 F gafoaa fivm

sid! AT -l
A. ag fag ogf Y a7 QY | afys gfgal o d o g @ A & Rraa .
SREEERAR:ED ERIIE)
LB. ATt FTF FTCFH &7 AT Ff-F21 AfFa afiar rar 8 ag et sz s,

T S TTF, TH AT FTTF ITITATAT FHUELT
C. 0T & wiad farat %7 ggt | S IR FTF FT UFH ANLT THET ;';ﬁq'
D. XqrE St oY gfgai T =T & Aarg avadt § IV, SITE

= fag o fFweqt # | gt swegfag .

[Question ID = 463]
1. A-L,B-II,C-UI,D-IV

[Option ID = 1849]
2. A-IV,B-1,C-11,D-1I
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[Option ID = 1850]
3. A-IV,B-ILC-L,LD-1I

[Option ID = 1851]
4. A-IV,B-IIL,C-1I,D-I

[Option ID = 1852]

14) The ability of an athlete to change direction rapidly without a significant loss of speed, balance, or bodily control is:

wfy, e a1 arifes o # ageagef G917 # faar us stz £ frar 3 @ agad AN 79 gaarg:

[Question ID = 464]
1. Agility/= T

[Option ID = 1853]
2. Balance/dd=

[Option ID = 1854]
3. Speed/wrfa

[Option ID = 1855]
4, Power/sTf=F

[Option ID = 1856]
15) The part of the heart that pumps blood to the rest of the body is the

EITFTATT AT AT TOCH THITHILATE, I8 &

[Question ID = 465]
1. Right atrium/arat arfé=

[Option ID = 1857]
2. Left atrium/=maT w=

[Option ID = 1858]
3. Right ventricle/aTaT ==

[Option ID = 1859]
4. Left ventricle/amaT F=7

[Option ID = 1860]
16) The first Asian Games were held between the following dates

a8 Tge ufirars @« fawforfay fafaat & fig safSa frooe g .

[Question ID = 466]
1. 15t May to 9" May 1951/1 5 & 9 A% 1951

[Option ID = 1861]
2. 4" March to 11t March 1951/4 71 % 11 779 1931

[Option ID = 1862]
3. 24™ May to 15t June 1951/24 7% & 1 577 1951

[Option ID = 1863]
4. 9th December to 20t December 1951/9 == 7 20 &Fa7 1951

[Option ID = 1864]

17) The ancient Olympic games were held in Olympia every four year from

AT A U ST gTATTHATA |/ A« (94T & F7 angrioa Fosmd 9 :

[Question ID = 467]
1. 770 B.C. to 300 A.D./770 £.7. 7 300 =T

[Option ID = 1865]
2. 786 B.C. to 350 A.D./786 Z.7. 7 350 7Y

[Option ID = 1866]
3. 776 B.C to 392 A.D./776 £.7. & 392 7

[Option ID = 1867]
4, 790 B.C. to 375 A. D/790 £.7. & 375 &t

[Option ID = 1868]

18) Inter capals or joints of the wrist are the examples of which type of joint.

HAL FIeE AT FATS & T2 T I THFCH TE F IIMEIT 87
[Question ID = 468]

collegedunia:

India’s largest Student Review Platform



1. Saddle joint/#== A2

[Option ID = 1869]
2. Gliding joint/wrzfZT 91z

[Option ID = 1870]
3. Pivot joint/TTEaTE STE

[Option ID = 1871]
4. Hinge joint/f&= =itz (= &7 A1)

[Option ID = 1872]

19) Fartlek, which means ‘speed play’, is a variation of

wrea®, Nrasr ad § vfte = (wfa @ @a77), et v Afrgarg?

[Question ID = 469]
1. Fast continuous (pace) method/a= 737 (wf=) f&fT

[Option ID = 1873]
2. Interval method/ =7+ 1= f&fer

[Option ID = 1874]
3. Acceleration runs/m=7T ZTZAT

[Option ID = 1875]
4. Circuit training/@ = afdreor

[Option ID = 1876]

20) Given below are two statements, one labeled as Assertion (A), and the other as Reason (R).

Assertion (A): Modern concept of health includes only a sound body with adequate fitness.

Reason (R): Health is a state of complete well-being. Which one of the following statements is correct? In light of the above
statements,

choose the most appropriate answer from the options given below

R A FaTfegaw g . oF F7 AFrFgT (A) AT AL FTFTI (R) FETTAT R
FfrwaT (A) : Tareey A g sragmoom § oafd T79ar $ 979 faw ¢F egeq qAarfH« §
HTL (R) : TqTeey Ouf Fegror 1 frafey @

I E FIAT S ArwrF § (et o fAweat & @ gt sae s ¢

[Question ID = 470]
1. Both A and R are correct and R is the correct explanation of A/(A) @7 (R) 3141 @21 £ &0¥ (R), (A) Ft 721 =197 £

[Option ID = 1877]
2. Both A and R are correct but R is NOT the correct explanation of A/(A) 3T (R) 4T @21 & 77+ (R), (A) #T #7=T =vear 721 2

[Option ID = 1878]
3. Ais correct but R is not correct/(A) T2 £ 79+ (R) TET 751 2

[Option ID = 1879]
4. A is not correct but R is correct/(A) =&l 751 & 7o+ (R) @1 &

[Option ID = 1880]

21) Which of the following is NOT a technique to assess body fat?

frraferfaa & & F197 aX< 797 (Body Fat) T HST FC7 %7 THA 15 AE! &7

[Question ID = 471]
1. Body mass index/aT21 W9 T2

[Option ID = 1881]
2. Air displacement/aTq fEeama

[Option ID = 1882]
3. hydrostatic weighing/s==4fHF T

[Option 1D = 1883]
4, skin fold thickness/==T % 7% &1 91212

[Option ID = 1884]

22) Which of the following are not a test for cardiorespiratory endurance.
A. Broad jump

B. 12 min Run walk

C. 1 mile test

D. Bench jump

E. Abdominal crunch
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Choose the correct answer from the options given below:

frafafaa € @ st9 a1 s RS ¢y 3 oo s ohgo a8 &
A. At ST

B. 12 fysz A afs

C. 1 7ta giteor

D. ¥ &Y

E. T2 %1 F97

= feT oy fawedt # & agt SO A ¢

[Question ID = 472]
1. A, B and D only/#3= A, B 37 D

[Option ID = 1885]
2. B,CandDonly/F39 B, C#7 D

[Option ID = 1886]
3. A,Dand Eonly/Fa+ A, D#I7 E

[Option ID = 1887]
4, C,DandEonly/F39C, DHATE

[Option ID = 1888]

23) Bachendri Pal

Bachendri Pal is an Indian mountaineer, who in 1984 became the first Indian woman to reach the summit of Mount Everest.
She was awarded the third highest civilian award, Padma Bhushan, by Government of India in2019.

In 1984, India had scheduled its fourth expedition, Everest ‘84, to Mount Everest.

Bachendri Pal was selected as one of the members of the elite group of six Indian women and eleven men to attempt to
climb Mount Everest (Sagarmatha inNepalese). The team was flown to Kathmandu in March 1984, and from there they
moved onwards. Recalling her first glimpse of the Mount Everest, Bachendri once reminisced: "We,the hill people, have
always worshiped the mountains...my overpowering emotion at this awe-inspiring spectacle was, therefore, devotional.” The
team commenced its ascent in May 1984. Her team almost met disaster when an avalanche buried its camp, and more than
half the group abandoned the ascent because of injury or fatigue. Bachendri Pal and the remainder of the team pressed
onto reach the summit.

On 22 May 1984, Ang Dorjee (the Sherpa Sirdar) and some other climbers joined the team to ascend to the summit of
Mount Everest; Bachendri was the only woman inthis group. They reached the South Col and spent the night there at Camp
IV at the altitude of 26,000 ft (7,924.8 m). On 23 May 1984, early morning at 6:20 a.m., they continued the ascent,
climbing "vertical sheets of frozen ice"”; cold winds were blowing at the speed of about 100 km per hour and temperatures
touching minus 30to 40 degrees Celsius. On 23 May 1984, the team reached the summit of Mount Everest at 1:07 p.m. IST
and Bachendri Pal created history.

In which year the first Indian woman reach the summit of Mount Everest.

CETIRIG]

TEET T TF AT T TG 8, ST 1984 H AIST TAFE 1 ATST T UEHA ATAT TgAT AT g wigaAr I47 I7¢ 2019 # #ALA
LHRTT I 1R gty aris qeET, 93] oo § gearfaa fFar aar

1984 &, TXT & ATAT AT9T FFHATH, Taiee '84, Hrde uaiee T fAgffca frar a1

FTEE ITT FT g AT AIEATA AT TATE LI B FAITAZ R GIEATH G UF & FT H WIS TILEL (AITSAT F FIALHATHT) 9T
HEA HTIITT S @ AT AT A7 97 779 1984 H EAN F T FTEATL AT AATHT T & F A 98 ATI T CALT 91 7gAT AT
FTITT LT EC, 9FT 7 ¢F 1T A78 Fgm: g, wgret &, g AT 9Tt #1 ¢ST FQ § ... OO0 g7 frewywrd wwewe A AQ
TId ATAAT AT 47T " T A 9% 1984 § FqAT IFTE LE AT ITHT TH FAHAT ATIT FT ATHAT FI @ 41 97 Rweaaa 7
Ia% fafaT £ 367 T fagr a7, sdhzard & sfers g ¥ T a7 99517 D F1007 T3 FrE A 91 AT 7S g e
ELETH A LA ATASL UG I Ig= &1 STA AT

22 w¥ 1984 FY, {7 ATHT (FTIT GLAY) AT FF A= THATAE WIS T waee 1 & 9T 957 # forg v § avfre go; st g0
THE F1 THATH AfZAT 97 3 qrog +« vg= T agl #7IV & 26,000 $rT (7,924.8 HeT) F1Y w91 gy U faard 23 7

1984 ®Y, Y¥g 6:20 I, I "R gU AR #1 G A1 9T F@1E A1 &Y, FEa 100 AT wfer o2 91 T & S gard
o TET GT T ATTATH AT79 30 |/ 40 Ryt aRwgw Fr g w@rav 23 #F 1984 w7 AT 1:07 Tt E1H ATIE TaLe FT Fret X
ggHt IST sz st wrer 7 <=7 gfogrw

forg af 7 A9 Tatee # 1 9T g qreAT UgAT ATy wigav 82

[Question ID = 473]
1. 1981

[Option 1D = 1889]
2. 1982

[Option 1D = 1890]
3. 1983
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[Option ID = 1891]
4, 1984

[Option ID = 1892]
24) Which one of the following is the third-highest civilian award by the Government of India.

frefafaa € @ st a1 wreg a@w gr e gaty arrfios g §?

[Question ID = 474]
1. Bharat Ratna/#m7a"9

[Option ID = 1893]
2. Padam Bhushan/93rqam

[Option ID = 1894]
3. Padam Shri/7=T=ft

[Option ID = 1895]

4. Padam Vibhushan/Tafaqaor

[Option ID = 1896]

25) Recalling the first glimpse of Mount Everest, who among the followings once reminisced: "We, the hill people, have
always worshiped the mountains...my overpowering emotion at this awe-inspiring spectacle was, therefore, devotional.”

HATIZ LTS F1 UgAT AAF F1 7S F¢a g¢, Pregiv frafofas s97 51 oF a1 T @ 717 fearan g, a5t 9w, g/ ar ggrey
T TAT FLQ & ... AT T FAeagw18d awew 9 AN v« a7 736 9

[Question ID = 475]
1. Arunima sinha/==faT =T

[Option ID = 1897]
2. Santosh Yadav/d91T I1=9

[Option ID = 1898]
3. Sherpa Ang Dorjee /97T 3T =Tafl

[Option ID = 1899]
4. Bachendari Pal/@==7 177

[Option ID = 1900]
26) On which date by reaching the summit of Mount Everest, Bachendri Pal created history.

Fra ardte 1 A1d Taiee 91 AT T IgIHR g E1 I 7 gfagra =\ an

[Question ID = 476]
1. 22 May 1984/22 7% 1984

[Option ID = 1901]
2. 23 May 1984/23 5ws 1984

[Option ID = 1902]
3. 24 May 1984/24 7% 1984

[Option ID = 1903]
4, 25 May 1984/25 W= 1984

[Option ID = 1904]

27) Why should a teacher be an idealist and set examples?

F41 T# fres w7 sngdardt a7 A1RT T W@ sarger earlg ¢ TlRW

[Question ID = 477]
1. Students usually imitate teachers/=r A=TT 97 firerst £ 7+ F99 &

[Option ID = 1905]
2. Students do not have values/ZTaT F 79 g4 &1 214

[Option ID = 1906]
3. The teacher is an adult/forsr v T97% &

[Option ID = 1907]
4. A teacher is a paternal figure/v# foras v fqs afa 2

[Option ID = 1908]

28) What type of synovial joint allows the movement such as bowling in cricket or overhead clear in badminton?

e ywre &7 faatfaas ove fede & Sgarsit a1 Fefiiea ® Grags Reagy 9 g9 7 sgafaard?

[Question ID = 478]
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1. Hinge joint/f&= =itz (F=a F1 A12)

[Option ID = 1909]
2. Pivot joint/TTz4TE W12

[Option ID = 1910]

3. Ball and socket joint/=T= Tz AiFz A=

[Option ID = 1911]
4. Condyloid joint/FiEtetzs stz

[Option ID = 1912]

29) Given below are two statements,

one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Physical activity and sports programme offer great opportunities for youth to develop leadership

Reason R: Sports and physical activities are highly interactive, provide numerous leadership opportunities or moments for
young people to gain leadership experience,

In light of the above statements, choose the most appropriate answer from the options given below

¥ A FaT RU A : F F7 AfrFAT (A) ST AT FT FTOT(R) FETAAT R
FfrwaT (A) : ardifes afafafy st @s s1dew a7 #71 A7 FAsfiT £33 3 97 ATqTAIT 5@ 2

HTCW (R) : @ AT arA s wiafafaat seafars darerens §, Laol $7 Iq@ A7 77 F47 F A Aqea & $E AqaCTT {0

TE1T AT 8

IUL FIAT ® arerw 7 AR Fweat & | gt Iwc g ¢

[Question ID = 479]

1. Both A and R are correct and R is the correct explanation of A/(A) &7 (R) ZT @21 & #17 (R), (A) 7 #&1 =47 2

[Option ID = 1913]

2. Both A and R are correct but R is NOT the correct explanation of A/(A) 37 (R) ZI=T 5121 2 T+ (R), (A) F1 527 =10a1 721 2

[Option ID = 1914]

3. Ais correct but R is not correct/(A) @21 2 77+ (R) HET A=l 2

[Option ID = 1915]

4, Ais not correct but R is correct/(A) T Hﬁé‘ﬂﬁ (R) 72t &

[Option ID = 1916]

30) PRICE method of injury management of players refers to

famTfRaY & PRICE (92 wagw Y vgfy) sraad ¢ :

[Question ID = 480]

1. Protect; Rise; Ice; Circulate; Exercise/WT2%z, 71T, #1ZH,

[Option ID = 1917]

2. Protect; Rest; Ice; Circulate; Elevate/9T=%=, 7Tz, #1=H, T, TieE=

[Option ID = 1918]

3. Protect; Rest; Ice; Compress, Elevate/9T3%2, 7129, @12, FIFH, UfEe

[Option ID = 1919]

4. Protect; Rest; Ice; Compress; Exercise/9T=#=, 1159, ATsd, FIFIH, TF7ATST

[Option ID = 1920]

31) Match List | with List-Il

List |

IList Il

Sports terminologies

Name of the sports

A. Smash |. Baseball

B. Diamond Il. Basketball
C. Free throw lll. Badminton
D. Revoke V. Bridge

Choose the correct answer from the options given below:

g -l F7 gt -1l & gAfHg fifsg

T, THHATATS S

T -l AT -l
(8 rsaTa) (@« FTATH)
A. THar | Sgate
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B. TTAHT |||. FTeR el
C. %t &y ||||. defieT
D. feat® ]w.a‘hr

= feT o fyweat # | gt swegfao .

[Question ID = 481]
k= LB tls Gl B= ¥

[Option ID = 1921]
2. A-IL,B-N,C-1V,D-1

[Option ID = 1922]
T | W o L G e |

[Option ID = 1923]
4. A-NI,B-1,C-1,D-1IV

[Option ID = 1924]

32) Match List | having names of the personalities with List 1l having the name of the sports

List |

|Li5t I

Name of the sports personalities associated with 5ports|Name of the sports

A. P.T. Usha I. Athletics
B.Deepika Kumari (ll. Basketball
C. Talwinderjit singh |III. Boxing

D. N.Usha |w. Archery

Choose the correct answer from the options given below:

gt -1 ¥ ey aw & gft aw gRagi @ ara s gt -1l F Rgavast s a9 & arg gaforg Ao :

-1 et -1
(@& it aw gftagt # 717) (@=t®a17)
AT, Y. F9T I gaa ferm
B, ffrsrgard II. FTehEa e
C. swfazsta fig IIL 7t e
D.gAIWT v. AT

[Question ID = 482]
1. A-L,B-II,C-UI,D-IV

[Option ID = 1925]
2. A-I,B-1I,C-1V,D-I

[Option ID = 1926]
3.A-LB-IV,C-Il,LD-1N

[Option ID = 1927]
4, A-1,B-IV,C-1,D-1I

[Option ID = 1928]

33) Match List | with List Il

List |

IList Il

Terminologies related to sports

Name of the sports

A. Bucket I. volleyball
B. Bull's eye Il. Rowing
C. Throw-in lll. Football
D. Libero IV. shooting

Choose the correct answer from the options given below:

g -l F7 gt -1l & gAfHg fifsg

T -l T -l
(@« & gf¥T asara«l) (@ # TTH)
A. TR | Frsfiaie
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B. gvq % I Trg

C.uaY -3+ Il gEais

D. fera<r Iv. sgfér

= feT o fyweat # | gt swegfao .

[Question ID = 483]
Tiok= Wy BV €= llly D=1

[Option ID = 1929]
2. A-I,B-IV,C-1,D-1I

[Option ID = 1930]
3. A-1,B-l,C-1IV,D-1l

[Option ID = 1931]
fde= B =VC= 1,01

[Option ID = 1932]

34) The Diameter of the shot put for junior men shall be:

i geat @ fae ate gz w1 3474 (diameter) Y77 :
[Question ID = 484]
- 100mm+ 120mm/100mm 4+ 120mm
[Option ID = 1933]
Z. 105mm=125mm/105mm 4+ 125mm
[Option ID = 1934]
3. 105mm 130mm/105mm 4+ 130mm

[Option ID = 1935]
4. 110mm+ 130mm/110mm 4+ 130mm

[Option ID = 1936]
35) The Weight of the men's basketball shall be

QEET HT ATERETTA T T (R TAT 14T TR :

[Question ID = 485]
1. 600g- 610g

[Option ID = 1937]
2. 600g-620g

[Option ID = 1938]
3. 600-640g

[Option ID = 1939]
4, 600g-650g

[Option ID = 1940]

36) The term 'Chinaman’ is associated with

|ATEATAT @reg frad gafoa g .
[Question ID = 486]
1. Ping pong/fdr 977

[Option ID = 1941]
2. Cricket/f#Fs=

[Option ID = 1942]
3. Table tennis/Z== =37

[Option ID = 1943]
4. Volleyball/aTeftat=

[Option ID = 1944]

37) Match List | with List I

List | IList I

Trophies and cup Name of the sports
A. Yonex Cup fI. Billiards

B. Nehru cup Il. Chess
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C. Thomas Cup ‘III. Badminton

D. Khaitan Trophy ‘w. Basketball

Choose the correct answer from the options given below:

At -l FT gAT -1l | gATg g :

gt -l g -l
(ETiRaT T %) (@« F ATH)
A, TIAFT FT I fafrasd
B. iIgE &7 I 3%

C. aiaq &7 . Fefie
D. @dTH Zi%T IV. aTEdeale

= frT g faweqt # & adt suegfaT

[Question ID = 487]
1. A-lILB-IV,C-1,D-1I

[Option ID = 1945]
2. A-IV,B-1Il,C-1,D-1l

[Option ID = 1946]
3. A-1,B-1I,C-1I,D-1IV

[Option ID = 1947]
4, A-IlLB-NL,C-IV,D-1

[Option ID = 1948]

38) Match List | with List Il

List | is having terminologies/Skills related to sport given in List II.

List | List Il
Terminologies/Skills [Sports

A. Diamond Duck II. Swimming
B. Breast Stroke I.Soccer

C. Sudden Death lll. Cricket

D. Throw in |IV. Hockey

Choose the correct answer from the options given below:
At -l FT gAT -1l | gATg g :
g 1 ® gt 1 F @« | d9f4T aegradi/Hraq

AT -1 AT -l
(TSITIHT / FYA) (@)

A. STIHET TFH I. frafir
B. A%z TIr® |||. st
C. FATAF AYT (HET 29) ||||. frae
D. & g |IV. gia

= feT g faweat # § gt suegfhT .

[Question ID = 488]
1. A-lIILB-LC-IV,D-1l

[Option ID = 1949]
2. A-1,B-I,C-1V,D-1l

[Option ID = 1950]
3. A-1,B-1I,C-1I,D-1IV

[Option ID = 1951]
4, A-NNL,B-1Il,C-,D-1IV

[Option ID = 1952]

39) The term wood shot is associated with

= qfe arsg frad ddfaa g
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[Question ID = 489]
1. Baseball/zHai=

[Option ID = 1953]
2. Basketball/aT==at=

[Option ID = 1954]
3. Badminton/3=TH=7

[Option ID = 1955]
4, Cricket/fFs=

[Option ID = 1956]

40) Skin injuries in sports are termed as

AT H g aTdAT AT HT IS FTFETATATE ¢

[Question ID = 490]
1. Contusion/= 7=

[Option ID = 1957]
2. Bruises/=T¢

[Option ID = 1958]
3. Abrasion/=ToT

[Option 1D = 1959]
4, Fracture/s

[Option 1D = 1960]

41) The period of growth and development from 14 years to 16 years (Chronological) is known as

149§ & 16 a5 (FTATIHAF) aF F fE @< Fwra Y qgafy 1 e w9 F srarsrar € ¢

[Question ID = 491]
1. adoloscence/FreTaTa=ar

[Option ID = 1961]
2. childhood/T=97

[Option ID = 1962]
3. early adulthood/5=% WTzaT

[Option ID = 1963]
4. Youth/ZFTHT=
[Option ID = 1964]

42) Kretchmer classified the human body into four groups based on physical features:
A. Athletic

B. Asthenic

C. Dyplastic

D. Pyknic

Choose the correct answer from the options given below

AT T AT Adwars # srgr o ara7 a8 F7 AT G A FATqq HAv
A. taafes

B. srfRasT

C. ETEearites

D. uTEHfAF

= faT o fraedt & & gy sue 9+ .

[Question ID = 492]
1. A,B,C,D

[Option ID = 1965]
2. B,C, A, D

[Option ID = 1966]
3. D,C,AB

[Option ID = 1967]
4. D, A, B, C

[Option ID = 1968]

s to?
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43) The field of play is rectangular, 91.40 meters long and 55.00 meters wide, in which sport the field




@H FTUFH ATATHIC AETT, 91.40 HrzT F971 &7 55.00 Hrex Iter 8, 9g A7 Prg @w & gfya 87

[Question ID = 493]
1. Football/wz=afa

[Option ID = 1969]
2. Hockey/zi#r

[Option ID = 1970]
3. Baseball/z#=at=

[Option ID = 1971]
4. American Football/s# =7 w=af=

[Option ID = 1972]
44) The ability of an individual to control voluntary movement toward an object is known as

et = e ot Frdt aeg 1 AT 919 A gs iy 1 AP s@ ST aaarsrsaTHETATATR ¢

[Question ID = 494]
1. body suppleness/af=t Fo==4

[Option ID = 1973]
2. dynamic balance/faefi= dq=7

[Option ID = 1974]
3. hand steadiness /T4 fRqvar

[Option ID = 1975]

4. accuracy/TFIIHT

[Option ID = 1976]

45) In order to test endurance of young boys and girls of 9-17 age group, the physical educators would often use

9-17 =g a9 & AT AHT AT Ahwat # agaalF 1 vdaw 51 F g, ardfes frgs sswcsrnr w3 €

[Question ID = 495]
1. Cooper's 12-minute run and walk test/F77 %7 12 fir= #7179 vz af+ ==

[Option ID = 1977]
2. 600m Run and Walk Test/600 #1=7 79 =7 g% =

[Option ID = 1978]
3. Half Marathon race/grs fafq 2z

[Option ID = 1979]
4. 1500 meter race/1500 =7 FT 312

[Option 1D = 1980]

46) The Sit-up test, the duration of which is 30 seconds, is a test of

fore-arg 2%, fSrast srafy 30 %< §, 98 frasr vdhaw 2

[Question ID = 496]
1. agility, strength and flexibility/srT==T, T # T =TT

[Option ID = 1981]
2. back strength, speed and flexibility /7= #T araa, 7 T A=A

[Option 1D = 1982]
3. abdominal strength, endurance and speed/%= £t arFa, ggutF #@v af7F

[Option ID = 1983]
4. dynamic balance, muscular power and speed/wiaeft= dq=m, Tefty srfer v i

[Option ID = 1984]
47) Pronation is a joint movement in which

T AT TH Y G99 ¢ (ora4d -

[Question ID = 497]
1. the forearm is rotated so the palm is backward/TF T2 HTAT ATAT & AT 24+ Treg 1 A7 21T 2

[Option ID = 1985]
2. the forearm is rotated so the palm faces forward /w18 TavaT a7 2 Tafer gaeft amr £ @ 2t 2

[Option ID = 1986]
3. a body part such as the shoulder is raised/ <17 FT F1% 7 F7 T FuT I27 g FAT £

[Option ID = 1987]
4. a body part such as the shoulder is lowered/ <17 &1 FTZ 331 57 & 1 #= gy F1A7

[Option ID = 1988]
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48) The only saddle joint in the human body is in the

THATT T FIE ATAT TOCH 751 ¢ -

[Question ID = 498]
1. little finger/=ET 3T

[Option ID = 1989]
2. wrist/FHTE

[Option ID = 1990]
3. thumb/3 3T

[Option ID = 1991]
4. toe of the foot/fT FT #=T

[Option ID = 1992]

49) is used to analyse unbalanced forces and the changes to motion that they produce?

FT ITAIT s gera 997 T 378 grer Seuw vfy # gfadw w1 RAgew s & forg fegr srar @2

[Question ID = 499]
1. kinematics/wia=ht

[Option ID = 1993]
2. kinetics/#T=a4+T

[Option ID = 1994]
3. kinesthetics/Fr=a=ai==9

[Option ID = 1995]
4, kinesis/#Frzafaw

[Option ID = 1996]

50) Young children are less prone to injury after bad fall because

FHIEF TN Fred 2 12 T 12 977 F e U A Fqr9Ar F7 grat @ F770% -

[Question ID = 500]
1. their bones are pretty elastic /371 22t ag7 Fr=317 g1

[Option ID = 1997]
2. their muscles are all fat/3#F1 =+t wraaforat /4% 2t &

[Option ID = 1998]
3. they are more natural in their movements/d s9= #=TAA1 H AfeT w=ramias 219 2

[Option ID = 1999]
4. nature has blessed them with falling techniques/T&f 7 372 i A=t Far=1 F1 smefiats AT &

[Option ID = 2000]

51) Skeletal muscles that support skull, backbone, and rib cage are called

FaTer A1 ArAL AT S @roFt, G #1 gt e gwddt R AR sy agro @t E, s FTHEER €

[Question ID = 501]
1. axial skeletal muscles/ ==t = Ft wrarfomET

[Option ID = 2001]
2. distal skeletal muscles/Z7=1 F#1a FT FrEoET

[Option ID = 2002]
3. appendicular skeletal muscles/Tf¥fore F=T= ¥ FiwIioraT

[Option ID = 2003]
4. proximal skeletal muscles/admer FF1e &1 Areafor

[Option ID = 2004]

52) Match List | with List Il

List | List Il

Terms Actions

A. Isotonic Contraction |. Executing motor action
B. Isometric Contraction Il. Free arm curl

C. Technique Ill. Pushing the wall

D. Tactic IV. Implementing strategy
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I I |
Choose the correct answer from the options given below:

AT -1 FT AT -1l & gafog fifve:

Rt - =t -1l

(EEEE)! (Fram)

A, sraETEr A dqRe I. AYeT fRaT fasarfea s
B. srgad few g = L. Y awH wef

C. aFt® . AT FT GFHT AT

D. &TH T Iv. wTFfa a9 FAT

= fag o fweqt & | gt saegfag .

[Question ID = 502]
1. A-ILB-UL,C-1,D-1IV

[Option ID = 2005]
2. A-1,B-1I,C-1I,D-1IV

[Option ID = 2006]
3. A-lLB-ILC-1,D-IV

[Option ID = 2007]
4. A-1,B-IV,C-1I,D-II

[Option ID = 2008]

53) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Autocratic style of leadership is usually task oriented and tightly structured.

Reason R: Leadership style is responsible for effective decision making in sport.

In light of the above statements,

choose the most appropriate answer from the options given below

= ¥ waT R acd . uF w7 AfrHgT (A) T gET FT FIXU (R) FETTAT
FfrwaT (A) : AT A g ¢ sraatz g FratE AT FascaHa adr
HTT (R) : @F 7 gardt fAofa &7 & forg g g+t Rreaare et 2

I7L FAAT ® arerw 7 AHifra Fweat & | gt Iwe A .

[Question ID = 503]
1. Both (A) and (R) are true and (R) is the correct explanation of (A)./(A) 3% (R) AT T21 £ 3T (R), (A) F7 727 =747 2

[Option 1D = 2009]
2. Both (A) and (R) are true, but (R) is NOT the correct explanation of (A)./(A) ¥ (R) =1 @& & we=g (R), (A) FT @&t =amear 747 £

[Option ID = 2010]
3. (A) is correct but (R) is not correct/(A) Fi2f & 77+ (R) 72l 721 2

[Option ID = 2011]
4, (A)is not correct but (R) is correct/(A) el AR E T (R) TErE

[Option ID = 2012]

54) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Physical Education is an integral part of education.

Reason R: Both education and physical education aim at the total development of personality.

In light of the above statements, choose the correct answer from the options given below

= Y wgqa frg e d . us w AfrwgT (A) T gL FY KLU (R) FFTAAT ]
FfrgaT (A) : ardfE rarag frarsTos afdm av g
FTT (R) : Farear sitT ar&ifes farerr SvaT w1 IR o7 =wfvwes w1 dpf A sET2

7L FIAT F arers § AHTTHT Aweat & | gt Iwe A

[Question ID = 504]
1. (A) is correct, but (R) is NOT correct./(A) 721 2 79+ (R) @&l A&l &

[Option ID = 2013]
2. (A) is NOT correct, but (R) is correct./(A) T H‘ﬁ?mﬁ (R) 721 &

[Option ID = 2014]
3. Both (A) and (R) are false./(A) 37 (R) FT91 @=1 771 7

[Option ID = 2015]
4. Both (A) and (R) are correct./(A) =7 (R) =1 721 &

[Option ID = 2016]
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55) Pull-up (for boys) and arm hang (for girls) test items in AAPHER youth fitness test are basically meant to measure

AAPHER 4T ffza® 25 & qa-a17 (@81 & o) sz and g (wefrat @ o) gz qgasvd ggagr a9+ & e g -

[Question ID = 505]
1. body strength as a whole/dHT =7 F o197 #1 a1+

[Option ID = 2017]
2. arm strength and flexibility/zm it F7%a i F= =07

[Option ID = 2018]
3. arm and shoulder strength/zT =T T F7 91%F7

[Option ID = 2019]
4. leg and arm strength/= @ zrg £t a7

[Option ID = 2020]

56) The first step in the planning process is

faaras afvaT & wgaT HFEw Ag ® -

[Question ID = 506]
1. Identification of target group/=&% 79z T T2

[Option ID = 2021]
2. Determination of goals/==aT %1 Fyiom

[Option ID = 2022]
3. Mobilization of resources/H#T4AT T FHZTH

[Option ID = 2023]
4. Provision of facilities/ffFumst F1 yraamT

[Option ID = 2024]
57) In which of the following activities is there optimal use of student leadership?

frafafas & @ fea wfafafy & gra g 1 ovaw g frar @2

[Question ID = 507]
1. Picnics/fisfa=+

[Option 1D = 2025]
2. Camping Organization /30T Ja7

[Option ID = 2026]
3. Skill Practices classes/#19Te s=TH FeATT

[Option ID = 2027]
4. Intramural competitions /#aeraterft afEafET

[Option ID = 2028]

58) When was the Olympic flag for the first time used and oath delivered to the participants in the Olympics Games?

e s @« & vty 1 ogdt TSI A« U sa« F7 58097 T aog F7 T 75 A2

[Question ID = 508]
1. 1920 at Antwerp/1920 == &

[Option ID = 2029]
2. 1924 at Paris/1924 Ffiw 3

[Option ID = 2030]
3. 1912 at Stockholm/1912 =f=g17 H

[Option ID = 2031]
4. 1908 at London/1908 5= #

[Option ID = 2032]
59) By what other name is health-related fitness best known

TaTeey ga ot e Fr AT Fa a9 @ SATITATG

[Question ID = 509]
1. aerobic fitness/m#1fa+ frzam

[Option ID = 2033]
2. cardiovascular fitness/F1fEard=g7 fhaaq

[Option ID = 2034]
3. motor fitness/"=v fr=a

collegedunia:

India’s largest Student Review Platform



[Option ID = 2035]
4. general fitness/aTaT=T TFaaH

[Option ID = 2036]

60) Friction is not affected by

aeor ga@ yaTfaT gt grar g :

[Question ID = 510]
1. Size of Base of Support/TWd= F AT FT AT

[Option ID = 2037]
2. Mass/7=191

[Option ID = 2038]
3. Shape/#17

[Option ID = 2039]
4. Nature of the Contacting surface/# 7% #ag F1 T

[Option ID = 2040]

61) A person's perception of his/her own personality traits is reflected in his-

TH A3 F1 q97 @9 5 AqFca AU FT GTCOT IqH | AT grat ¢ -

[Question ID = 511]
1. Self esteem/#: =0 A+

[Option ID = 2041]
2. Self concept/s=q sF4TIMT

[Option ID = 2042]
3. Self efficacy/=eq TATAFIAT

[Option ID = 2043]
4. Self regard/=THHTA

[Option ID = 2044]

62) Which is the lowest level of learning?

e sTfHaw sar T a1 8?

[Question ID = 512]
1. Rote learning/7T= HT==T

[Option ID = 2045]
2. Understanding/9#H=

[Option ID = 2046]
3. Application/=ma=

[Option ID = 2047]
4, Correlation/#z - 599

[Option ID = 2048]

63) What creates physical differences among people?

& dtw ardfes dfregar sa7 fAwfo scarg?

[Question ID = 513]
1. Heredity/sraiforFar

[Option ID = 2049]
2. Climatic conditions/aTara<m £t gffeafaat

[Option ID = 2050]
3. Birth Place/3=7 =19

[Option ID = 2051]
4. Ethnic background /i Tagfa

[Option ID = 2052]

64) Physiology is a tripod science, its three legs being ____

adi fraT g os faars e g, sed dtwdeag €

[Question ID = 514]
1. Physics, chemistry, anatomy/dtfaT, vama= s, ofiT =97 s

[Option ID = 2053]
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2. Physics, zoology, biology/@TiaT, wmiter, sa =

[Option 1D = 2054]

3. Physics, biology, anatomy /€T, sfta fEsm, o =91 Bsme

[Option ID = 2055]

4, Physics, botany, anatomy/aTia#r, F9=9 FeF, o7 7=47 Fa

[Option 1D = 2056]

65) Match List | (Systems) with List Il (Functions)

List | |L1'st T
System |Function
A. Muscular

|I. Stores energy reserves

B. Digestive

|II. Distributes heat & assists in control of body temperature

C. Cardiovascular

|III. Helps regulate body temperature

D. Integumentary

|IV. Generates heat that maintains body temperature

Choose the correct answer from the options given below:

A -1 (yorreft) FY gAY -0 @) & gAfRrT v

Rt - gt -l
(srorT=it) (w1)
A. TefrT I ST HETX HUgTa FLaT 8

B. araa&Har  |Il. wHT faafca s7ar & Tt a0 $ aroaTa &7 9B 37 & agraarswar g

C. FTETdEgaYl. a0 & areaTa &1 A fFa w37 & Agg sLarg

D. qurf# IV. THT ITqF FLAT 2 AT AT R TITHATT FT 9T TEAT 2

= frT g fFwedt & / adft s afAg:

[Question ID = 515]
1. A-I,B-II,C-N,D-1IV

[Option ID = 2057]
Fode= W B= LG 180

[Option ID = 2058]
3. A-IV,B-1I,C-1,D-1I

[Option ID = 2059]
4, A= INGB= LCwI, D

[Option ID = 2060]

66) From out of the following sports, name the one in which you do not sweat as easily

frafafaa @« & 8 Sg @« 177 Farz¢ Forad swosr srgr+t & gdtar 9t srar g -

[Question ID = 516]
1. Tennis/zf=

[Option ID = 2061]
2. Swimming/fEET

[Option ID = 2062]
3. Skiing/=frEm

[Option 1D = 2063]
4. Golf /=%

[Option ID = 2064]

67) Name a sport in which the structure of competition is relatively constant

TF R @9 FTATH 7q75¢ Forgd qfaarfrar 1 dr srdtgrga Racadt g -

[Question ID = 517]
1. Table Tennis/Za= =fa9

[Option ID = 2065]
2. Diving/zTzfEwT

[Option ID = 2066]
3. Shooting/ef=T

[Option ID = 2067]
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4,

68) What determined whether or not an object is stable?

Badminton/3=d=7

[Option 1D = 2068]

g7 fFrgficg sear § fF w1 aeg Rax g aradi?
[Question ID = 518]

1.

Object's position/=+g #T f2afF

[Option ID = 2069]
Object's size and shape /3% FT TTT T AT

[Option ID = 2070]
Object's mass/a=1 FT 244911

[Option ID = 2071]
Object's centre of gravity /¥ FT T#FeATH4 F7

[Option ID = 2072]

69) What principle is applied in high jumping case

AT FI F ATHA ¥ Fra a1 Rgiaamrare .
[Question ID = 519]

1.

70) One of the major consequence of high self-esteem is

Use and disuse /37300 37 AqT41T

[Option ID = 2073]
Transfer of momentum/afd FT =qTaa7T

[Option ID = 2074]
Action and reaction/ T =i af&eaT

[Option ID = 2075]
Vertical projection/#=aa waor

[Option ID = 2076]

IF ACHATATT F U@ IRTHI A & UF §

[Question ID = 520]

1.
2.
3.

4, decreased complaints from unionised workers/®9 & FAFT=57 # oAt § 7

71) Name the food substance which human body is not capable of storing.

ITGTH TGS FTATH 7q7C 8 Arag qe A9+ F qawagi g :

good mental health/=z1 AT =0T

[Option 1D = 2077]

increased worker involvement on teams/Z8T ¥ F1dFaT £t aRi=HT 7277

[Option ID = 2078]
increased absenteeism /TEN g% SAATEAAT

[Option ID = 2079]

[Option 1D = 2080]

[Question ID = 521]

1.

fats/=949T1

[Option ID = 2081]
mineral salts/&fas =90

[Option ID = 2082]
vitamins/E=rfa=

[Option ID = 2083]
water/ T

[Option ID = 2084]

72) International Day of Disabled persons is celebrated on

Fad g s g s garar9T97 2 !

[Question ID = 522]
1

21st May/21 7%
[Option ID = 2085]

2. 21st June/21 F7
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[Option ID = 2086]
3. 29th August/29 s3TET

[Option ID = 2087]
4, 3rd December/3 fZHa7

[Option ID = 2088]

73) Much of the motor-skill learning takes place during

aftrwi o Are-aras draar Fa qaear  duaQare .

[Question ID = 523]
1. Puberty/=Ta=

[Option ID = 2089]
2. Infancy/daT=aT=4r

[Option ID = 2090]
3. Childhood/F=T+7

[Option ID = 2091]
4, Adolescence/fReTreTa=aT

[Option ID = 2092]
74) Vajrasana, Trokonasana and Ardh-matsyendrasana are helpful in curing which disease?

FITgd, BrErara st safaeedwxray fra O 1 s 7@ & 95195 &7

[Question ID = 524]
1. Diabetes/WqHz

[Option ID = 2093]
2. Asthma/z=g#T

[Option ID = 2094]
3. Hypertension/3F T=FATT

[Option ID = 2095]
4. Obesity/®T=raT

[Option ID = 2096]

75) Who had mentioned these objectives of Physical education (Health, Worthy use of leisure time, and Ethical character)

arifos farer # 39 I 9Tt w1 Ivav @ fraa frar a7 (TaTeeT, A9HTH B TAT F7T 37407 AT A faw 7o)

[Question ID = 525]
1. H.clark/m=. 774

[Option ID = 2097]
2. Book Waltor/gF 91727

[Option ID = 2098]
3. Hetherington/E=fim=

[Option ID = 2099]
4, Leslie/s=T

[Option ID = 2100]

76) Who has played the most important role to give modern life to Olympic Games?

#re (U @« &7 s f=F (777) sta7 39 § 998 qgeayy giuwsT fraa fars 87

[Question ID = 526]
1. Baron De Coubertin. /377 =T F1af=7

[Option ID = 2101]
2. J.P Thomas/=T gi99

[Option ID = 2102]
3. T.P Nun/Zr . 9+

[Option ID = 2103]
4. Macale/#=FT+

[Option ID = 2104]

77) In which year modern Olympic Games started?

arg o @ s @ 91 geana fFa ad g 9v
[Question ID = 527]
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1. 1890

[Option 1D = 2105]
2. 1995

[Option ID = 2106]
3. 1896

[Option ID = 2107]
4. 1973

[Option ID = 2108]

78) In which year first time females took part in Olympic games?

forg af gget are afgarat & S fs @t & o forgran

[Question ID = 528]
1. 1891

[Option ID = 2109]
2. 1900

[Option ID = 2110]
3. 1890

[Option ID = 2111]
4. 1906

[Option ID = 2112]

79) “Olympiad” Means:

"are e w1 a9 #97 8:
[Question ID = 529]

1. Place in Greece./H¥ # T# #q19

[Option ID = 2113]
2. To win the medal in Olympic Games. /5= o7 T=T # T2 sfta=r

[Option ID = 2114]
3. To take part in Olympic Games/#r=feas @=T § a1 &9 % o

[Option ID = 2115]
4. The period between 2 Olympic games. / ST+ Tt % == $7 sr=far

[Option ID = 2116]

80) Olympic Moto “ Fortius” Means

e fUs ey "wrfeay” 1 ad #9718
[Question ID = 530]
1. Higher/3ga~

[Option ID = 2117]
2. Faster/as

[Option ID = 2118]
3. Stronger/H=dd

[Option ID = 2119]
4. All of the above. /377 =+t

[Option ID = 2120]

81) Who had made this definition of physical fitness - “Physical fitness is the ability to face the present and future physical
challenges of life with great success”?

ardies feeaa 911 a8 vhearsT fraa 9918 971 - "arifes feeaw sfraq 1t adara she wiersy 6 arifos gatfoat srash
AFEAAT ® TS GIAAT FLA BT AHAT "7

[Question ID = 531]
1. Don Hoskins/=fa Zrfes=

[Option ID = 2121]
2. David R. Lamb/=fa= =7, &

[Option ID = 2122]
3. Carpowich/#Tqrf==

[Option ID = 2123]
4. Cureton/#Fq7z7

[Option ID = 2124]
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82) Dynamic strength is also known as:

wfadis afF ® €9 F AT FrATATATE !

[Question ID = 532]
1. Static Strength/fRav «f=F

[Option ID = 2125]
2. Insotonic strength/HTZI aTFa

[Option 1D = 2126]
3. Power/eTf=F

[Option ID = 2127]
4, None of the above. /3779 § ¥ 1% 721

[Option ID = 2128]

83) Choose the right word from the following to fill in the blank space “ is the range of movement of joints.”

frreamsr v & fae fafafar g @ afr asssraaa w1 srEf #rwfrswrdiarg "

[Question ID = 533]
1. Agility/s7=ar

[Option ID = 2129]
2. Endurance/dH==

[Option ID = 2130]
3. Flexibility/@=t=TTa

[Option ID = 2131]
4. Velocity/3T

[Option ID = 2132]

84) The definition of Asana “Sthiramsukhamasanan” is mentioned in:

araa @t giearsT "Ragamraa” sad sfeafyaa §:

[Question ID = 534]
1. The Ramayana/¥TH1a7

[Option ID = 2133]
2. Patanjali yogasutra 11:46/Ta=fe1 TETEA 77145

[Option ID = 2134]
3. Ghrenda Samhita 12:46/5=T #fgaT 1345

[Option ID = 2135]
4, Charak Samhita 11:30/97% 92471 11:30

[Option ID = 2136]

85) Choose the right word from the following to fill in the blank space “Dharna is the step in the maharishi
patanjali’s ashtang Yoga.

o eqma &1 wA # forg fefoafaa & @ a8t asg g7 g 7gf§ oaafe # st v s

[Question ID = 535]
1. Forth/=zmr

T §

[Option ID = 2137]
2. Second/d¥F=

[Option ID = 2138]
3. Seventh/\TaaT

[Option ID = 2139]
4. Sixth/==1

[Option ID = 2140]
86) This Formula = {Body Weight (Kg)} divided by {Body Height (M2)} is used to calculate the:

g wig«T = (I A (Prerare)} w1 @& grze (M2)} & frarfra s@ worar 1 ardt 2

[Question ID = 536]
1. L.Q/#EFg

[Option ID = 2141]
2. BMI/Emaars

[Option ID = 2142]
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3. BD/ET Y

[Option ID = 2143]
4, BP/=T T

[Option 1D = 2144]

87) Which of the following instrument is used to measure the static strength of hand?

g1 #1 RaT afss £7 91978 # fore frafafas & | e Suswor &1 3930 frar srar @2

[Question ID = 537]
1. Shotput/#rizqz

[Option ID = 2145]
2. Handgrip dynamometers/Z=fiT sTaawTHI=Y

[Option ID = 2146]
3. Skinfold caliper/FaTi=z Ffeme

[Option ID = 2147]
4, dynamometers/STaAHHIZT

[Option ID = 2148]
88) Which joint is the largest weight bearing joint in the body?

AT H G998 TET AT IEA FLA ATATATE HIT A1 87

[Question ID = 538]
1. Hip Joint/f27 sig=

[Option ID = 2149]
2. Elbow Joint/F a1 7

[Option ID = 2150]
3. Knee Joint/q=+ FT A2

[Option ID = 2151]
4, Ankle Joint/=== T A=

[Option ID = 2152]

89) To find out the first and second position in the knock- out tournament, How many total matches will be there, when
total teams are 34?7

FiF-arse gAfdz & ggar T g #9477 A9 F forg, [ o A= A, 77 59 OH 34 g2

[Question ID = 539]
1. 17

[Option ID = 2153]
2. 36

[Option ID = 2154]
3. 33

[Option ID = 2155]
4, 25

[Option ID = 2156]

90) In a Knock-Out Fixture based tournament how many total number of Byes will be given , when there are total teams
17?7

o TiF-arIT ergw anarieg gafdz &, 5o ot ard & sroft, o3 57 HF 17 e

[Question ID = 540]
1. 1

[Option ID = 2159]
2. 13

[Option ID = 2160]
3. 01

[Option ID = 2157]
4. 15

[Option ID = 2158]
91) How many numbers of rounds will be there in a Knock-out tournament, when total teams are 16?

TF ATH-AIT EATHZ § fhad vde g, 57 177 OHF 16 gia? .
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[Question ID = 541]
1. 03

[Option ID = 2161]
2. 04

[Option ID = 2162]
3. 05

[Option ID = 2163]
4. 02

[Option ID = 2164]

92) In a Knock-Out Fixture based tournament, how many total numbers of Byes will be given, when there are total teams

14?

TF AiH-ArIT rra=< angTiea gafde &, g« feaat a7 arg & srd+ft, 57 g 7 14 g97

[Question ID = 542]
1. 00

[Option ID = 2165]
2. 04

[Option ID = 2166]
3. 02

[Option ID = 2167]
4. 01

[Option ID = 2168]

93) Due to lack of vitamin ‘C’ Which disease can be there from the following?

faezrfra |7 #7791 @ fafafaa & @ sra-arQugrasard?

[Question ID = 543]
1. Scurvy/=F4(

[Option ID = 2169]
2. Anemia/m=TfaaT

[Option ID = 2170]
3. Night Blindness/7=TT

[Option ID = 2171]
4. Osteomalacia/#faggar

[Option ID = 2172]

94) Which of the following food stuff contains almost all ingredients of a balanced Diet?

frefafaa & @ fra g vard § dgfea argre § sawa adt a9 €2

[Question ID = 544]
1. Meat/"g™

[Option ID = 2173]
2. Chicken/f=r7

[Option ID = 2174]
3. Milk/3g

[Option ID = 2175]
4, Fish/@zAT

[Option ID = 2176]

95) The food that we eat, yields energy in the form of:

TY ST WA L g, IFA FAT I greft 8:-
[Question ID = 545]
1. Carbohydrates/#FaTzIzs=

[Option 1D = 2177]
2. Thermal Waves/ 99 9=

[Option ID = 2178]
3. Heat Units called calories/Z=AT z%rzat o F919 FRTATAT &

[Option ID = 2179]
4. Nerve stimulations/=F==T 39r==T

[Option ID = 2180]
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96) Which of the following is not a source of fats obtained from animals?

faw & @ 19 199 | TR 7T FT AT TET 272

[Question ID = 546]
1. coconut oil/aTfa= #1 7+

[Option ID = 2181]
2. Code liver oil/=T= a7 siig=

[Option ID = 2182]
3. Meat/Ti#F

[Option ID = 2183]
4. Milk/zo

[Option ID = 2184]
97) 90% of body’s calcium is found in

AT HT 90% H oaaw ® qTaT ATAT &

[Question ID = 547]
1. Brain and Nervous system/®f&ams #fiw #F=r a9

[Option ID = 2185]
2. Bones and teeth/zfEat siv aiq

[Option ID = 2186]
3. Ligaments and Tendons/#& a4+ “i7 F29

[Option ID = 2187]
4. Liver and Pancreas/ 7 sii7 sv=amary

[Option ID = 2188]
98) Name the food substances which human body is not capable of storing

ITGTT T FTATH IATSC oreg ATA7 qOCAIT FA § OqT A1 &

[Question ID = 548]
1. Fats/=3#T

[Option ID = 2189]
2. Mineral Salt/=f== /9w

[Option ID = 2190]
3. Vitamins/FE=rfa=

[Option 1D = 2191]
4, water/ 7T

[Option ID = 2192]

99) Preforming Dands (Dips) baithaks (Squats) in a big number at a stretch is an index of:

HiwifiT egw (foew) dox (FPcd) THF TSt §&TH UF T ITLTFHF ESFHE: -

[Question ID = 549]
1. Endurance/#i =

[Option ID = 2193]
2. Muscular Endurance/Tsfrr sza9f=r

[Option ID = 2194]
3. Cardio Vascular Endurance/#TfEaT Aega7 Tga9F

[Option ID = 2195]
4. Cardio Respiratory Endurance/#TZ4T ‘@@ dgaurf=r

[Option ID = 2196]

100) Newton second law of motion is also known as:

T F Tfa F gae g9 77 fva 77 Sra1 9197 8!8

[Question ID = 550]
1. Law of interaction/aTa=1a &1 FTIA

[Option ID = 2197]
2. Law of Inertia/===T #1 Faw

[Option ID = 2198]
3. Law of acceleration/=7m =71 fFaw
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[Option ID = 2199]
4. Law of gravity/I==THd 1 fAgw

[Option ID = 2200]
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